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 ��	� ���� ��� ��	�� 	�M(a, b) =
M(a, c) = M(b, c) = 1 
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a = m2 − n2, b = 2mn, c = m2 + n2,

��	� 
� m �n ���� ��	�� ����������	����m > n�
&� ���� � ��� ������ %��� ������ ���	�� (a, b, c) �����
���� 
� ��
 ���� 
��� � ���� �	�

 ��	� ��	� 
 � ������

(ka, kb, kc) ��	� 	� k ���� ��	�� ����������	� < ��

�� ����	
 ��� ���� ����� ��� 	����� %��� �������

���	��� ����0��� 	� ��
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��� a2 + b2 = c2 � 
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an + bn = cn� ��	� 	� n � ����������	 ������� 2�
�	�
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 ��� � � �������� ���	��� �� ��
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P2 = P2
1 + P2

2 + P2
3.
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a2 + b2 + c2 = d2.
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a2 + b2 + c2 = d2 �� �
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a ��� � �� ����	������ 	� 
� �� ���� ���

a = m2 + n2 − p2 − q2, b = 2(mq + np),

c = 2(nq − mp), d = m2 + n2 + p2 + q2

� ��
��� � 
� m�n�p �q ���� ����� � ��
 ��� �����������
	����� 	�m + n + p + q��� � �� ���� �� ��� 
��������
���	������������

(m2 + n2 + p2 + q2)2 = (2mq + 2np)2

+ (2nq − 2mp)2 + (m2 + n2 − p2 − q2)2.
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a2 + b2 = d2

b2 + c2 = e2

c2 + a2 = f 2.

E�� � ��� 	��� ��	�
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������ �' a = 44� b =
117� c = 240� d = 125� e = 244� f = 267�
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�� �� ��� �� �� �� 	� �� ������ � � ������ 	� 	� %� ��

F � ����1 3=3?��������
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������  	��!���
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��" #
����	2����� 	� (u, v, w)
%��� ������ ���	��  u2+v2=w2"�( � � �������a�b �c

a = u|4v2 − w2|, b = v|4u2 − w2|, c = 4uvw

�� 	� ��	� ���� �� 
��� ��

d = w3, e = u|4v2 + w2|, f = v|4u2 + w2|.
� � � ��
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E������� �� ��������	� ���� �� �� �� �� ��� � �
 ��	��

# � 
���� ��� � ��� �� ������ � ����� 
���� �	� � ��� ��	�

�� ���� 
 � ��

 ��� E������� �� ��� �� 	� � �	�����

� ��� � ����������� 5 · 1011�

(1, 2, 2, 3) (2, 6, 9, 11) (2, 10, 11, 15) (6, 6, 17, 19) (4, 13, 16, 21) (6, 13, 18, 23) (2, 10, 25, 27)

(2, 3, 6, 7) (6, 6, 7, 11) (1, 12, 12, 17) (6, 10, 15, 19) (8, 11, 16, 21) (9, 12, 20, 25) (2, 14, 23, 27)

(1, 4, 8, 9) (3, 4, 12, 13) (8, 9, 12, 17) (4, 5, 20, 21) (3, 6, 22, 23) (12, 15, 16, 25) (7, 14, 22, 27)

(4, 4, 7, 9) (2, 5, 14, 15) (1, 6, 18, 19) (4, 8, 19, 21) (3, 14, 18, 23) (2, 7, 26, 27) (10, 10, 23, 27)

1 '� 5�A � �)�� +�<<��B �= ��-
���� � /)��� � ��� � ��/)� 	
2 8�)9��� � 0 � 5���	� ��
+�<,��B �= ��- �	��� �� ��� � ��� � ��/)� 	
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